ANSWER MERGE

CRYPT-CROSS

Merge two answers into one longer answer. Answer lengths
have been given to help you.

This 1971 film featured Clint Eastwood as a cop and also a
fictional wizard (5,5,6)

This Abraham Lincoln speech is an Olympic event featuring
prancing horses (10,10)

This 'Woman In Love' singer is an abrasive used to smooth
surfaces (6,14)

This Swiss city is a show that inspired these very questions
in Peake's Puzzles (9,6,5,2,5)

Solve the anagrams below to reveal 11 acts
that have had five or more UK No. 1 singles.
Each anagram has one extra letter that isn’t
used. In order, these extra letters spell out an
answer to the question underneath.

RAVES SLEEPILY

THE ATTACK

HE SERENADE

MAIMS HOST

FENCE BOY

RICH NANA

LASHED

MY CALF

OLD BRINE

TEN MIME

| VOIDED SWAB

Which playing card
is often at No. 1?(3,2,6)

Only the position of 1 Across has been given in this cryptic
crossword - you will need to figure out where the other clues
will fit. As an additional hint, the top line will form a four-letter
word.

1

1 Across: Oklahoma resident is working inside, sore all over
the place

Cooks swellings

How some of Colin Dexter's work is organised?

Looks at gym records

Nicer German children

Noel travels with Republican hermit

Tired agent hugs director Spike

Tip jar: (=) ko-fi.com/quizzydan

Answers to clues can be formed using the
trigrams listed below. Each trigram can only be
used once. However, one letter from each
answer is missing from the trigrams. In clue
order, the missing letters will spell a word.

ANI | ATL | BAT |BOW| CRI
DGE |GUE | IER | IRC | ITI
LEA | LEX | MID [MON MUM
NUT | OPT |OUS | PRE | RIN
TNA |[UMF| - - -

= LGBTQ+ flag ‘colour’ and symbol

= Full of goodness

= Ship

= English football tier (2 words)

= Northern US state

= Oceanographic feature between Europe and
America (2 words)

= |deal

= Diacritical mark
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